~

IIIIIIIIIII|I
/

SPEED FLYING WING

, A \ 840 mm Radlo req'd \
| . 3-channel
HQ 680 mm with
| | 3 servos
29,5 dm?
i 0,9-1,2 kg 3,5-5cc
BELL 540
N /

Manufactured by

T@PM@@@ L G

679 05 HABRUVKA 72 - CZECH REPUBLIC/




F

BULLIT kit

GB - USA

Ne° piéce | Désignation Matériau, dimensions Vrac| Sachet Part # Part name Material, dimensions Loose| Inbag
notice de montage 01 building instructions 01
2 aile structure balsa 01 2 wing balsa assembly 01
2-A trappe balsa 1,5 mm 01 2-A hatch balsa 1,5 mm 01
2-AA support trappe balsa 6 mm 02 2-AA hatch support balsa 6 mm 02
2-AB fixation trappe vis a bois @ 2,9x6,5 mm 02 2-AB hatch fixing wood screw @ 2,9x6,5 mm 02
2-1 flaperon balsa 02 2-1 flaperon balsa 02
2-4 fixation servo flaperon polyuréthane 04 2-4 flaperon servo mount| polyurethan 04
2-41 carénage servo flaperon | ABS © 57 mm 02 2-41 flaperon servo cover | ABS plastic @ 57 mm 02
2-5 tringlerie flaperon CAPQ 2, longueur 200 mm 02 2-5 flaperon pushrod piano wire @ 2, length 200 mm 02
2-6 chape + écrou MPJ2140, écrou M2 02+02 2-6 clevis + nut MPJ2140, nut M2 02+02
2-8 guignol flaperon plaque époxy 1,5 mm 02 2-8 flaperon horn epoxy plate 1,5 mm 02
9-2 fixation servo moteur polyuréthane 02 9-2 motor servo mount polyurethan 02
9-21 commande des gaz CAPO 1,2 x 320 mm 01 9-21 throttle linkage music wire @ 1,2 x 320 mm 01
gaine @ 3,2 x 215 mm 01 sheath @ 3,2 x 215 mm 01
chape-embout-écrou M2 1+1+1 clevis-nut M2 1+1+1
4 dérive balsa 02 4 fin balsa 02
7 décoration auto-collant 01 7 stickers 01
11 charniere MPJ2500N 06 11 pinned hinge MPJ2500N 06

ATTENTION !!!

Ce modele a construire n'est pas un jouet, il ne convient pas aux enfants de moins de 14 ans.

Une mauvaise utilisation de ce matériel peut provoquer des dommages matériels ou corporels. Vous étes pleinement responsable lorsque vous utilisez votre
modele. Volez a une distance de sécurité des zones habitées.

Soyez sur que personne n'émet sur la méme fréquence que vous.

ATTENTION !!!

This model construction kit is not a toy and is not suitable for children under the age of 14.
Incorrect use of this material could cause material damage ou personal injury. You are fully responsable for your actions when you use this model.
Fly at a safe distance from occupied zones. Be sure that no one else is using the same frequency as you.

ACHTUNG !

Dieses Modellflugzeug ist kein Spielzeug, es ist fur Kinder unter 14 jahren nicht geeignet.

Eine unsachgemésse verwendung dieses Modellflugzeuges kann materielle oder gesundheitliche Schadigungen nach sich ziehen. Bei dern gebrauch des
Modellflugzeugs tragen sie die volle verantwortung ! Halten sie einen Sicherheitsabstand zu bewohntern Gebiet, entsprechend den gesetzlichen Vorschriften,
ein. Vergewissern sie sich dass die von ihnen benutzte Frequenz frei ist !

ATTENCION !!!

Este modelo a construir no es un juquete, no es recomendable para ninos de edad inferior a los 14 anos.

Una mala utilization de este material puede provocar danos materiales o corporales. Vd. es el unico responsable cuando utiliza su modelo. Vuele a una dis-
tancia prudente de seguridad en zonas habitadas.

Asegurese que nadie emita en la misma frecuencia que vd.



—T™™™™

Off v
E Switch

o

MVVS
26 Combatl

. 1,5 ° Right

‘ E—

A

Spinner, kuzel, cohe @51mm
#0207551 |

APC 7x7"

Tank
Nadrz |

Réservoir|
100-120cc

5

pd

JETI REXS l \

K

e

Standard servo|

4wwmmm%|

[e)

Tuned pipe, réso MVVS #3244

TEZISTE-GC 215-225 mm

|5

©2003 TOPMODEL CZ Manufactured by TOPMODEL CZ s.r.o. 679 05 HABRUVKA 72 - Better thade in the Czech Republic - www.topmodelcz.com
|

6|6

mm

CONTROL THROWS
DEBATTEMENTS GOUVERNES

Elevator
Vyskovka
Profondeur

Ailerons
Kridelko
Ailerons

“TOPWODEL. Ce

Not scale - Pas a I'échelle

©2003 TOPMODEL (Z



